%77IEIEIE1$ BARE#ETOVIRERRYr—

e BA19AHSEHER)

[8A19A (£
B #EEIJ No. JV—=VIURHTIF =Rl No. FHRBILBERR—Y o 4—
PELT 0 -
030 |TiEg | @ |FBL o0 s - s 0 =8
0 - 0
SO 1 — 2
. 1 - 0 . 0 - 1
30 |PEBF = 2 - 0 DEBTF 0 - 1 7
130 |7 G @ #R 1 5 - 0 0 PN T RN ® B 0 0 - 0 3 Al
3 - 0 0 - 1
5 - 0 0 - 0
! BELF 4 — 0 MEXF = 1 — 0
1330 | * G @ =8 17 ) - 0 0 PR = ® | #HWL 2 b — o 0 &
6 - 0 0 - 0
— —
30 |RESTF 2 - 0 RESF = 0 - 0 -
1530 ™ G ® & 4 2 - 0 0 PN e R @ AT 0 0 - 0 0 AR
0 - 0 0 - 0
SO 2 3
{;ﬁ77IEIIE|E1$ﬁj<A:&akz7D‘J’JxA1w’T e (BA20BHEHER)
8H20H (+
B =Rl No. JV—=VIURHTIF &5 No. FHRBEILBERR—Y o 4—
b oL : - ; paE% 0 - :
. DELT = 0 — 1 DELF 0 - 1 ;
930 [ Teiame #B 3 1 - o 2 RR | e ® PN 0 o — 0 5 "E
1 - 1 0 - 2
- o0 - T 0 | - o - T 4 ]
) VEBTF 0 — 2 = VEBTF P 0 — 1 :
1130 | Tetlne =R 3 b - 0 2 R | T W) AT 0 0 - . 10 BB
2 - 0 0 - 1
o0 - "3 o0 - 1
. MEXF s 0 - 0 MEXF = 0 - 1 =
1330 | Pt ®@ BB 1 1 - 0 6 £ e, ® AT 0 0 - o 3 AR
0 - 3 0 - 1
EZ 0 - 0 EZ 0 - 2
: LEBT 0 - 2 (BT . 0 - 4 e
1530 | i =R 2 0 _ 1 4 S R ® TR 0 0 _ ) 9 HE
2 - 1 0 - 1
= FNEERABERREHZTOVIRSRvr—Hks BA21BHAEGHSR)
8H218(A)]
B &5l No. JU—=2FURHTF
pis 0 - 0
' Iy =3 - 0 _ 0 -
930 |7 = 1 1 _ 0 0 HE
0 - 0 —
T
- 1 - T 0 | . -]
. LERF 0 — 1 B
130 |7 g ® =B 1 0 — ) 4 #E
S\ — —
T
& T ] ]
. LT 1 - 0 =
1330 ™ =B 5 ) - 0 0 gt
e - — —
T
0 - 1 —_—
. MEBF 0 — 0 ;
1530 | %5 & 0 0 - 0 2 BB
0 - 1




